520 Munsell-System Y,,=100, P60
7 oNM,.,.C=2, V=1, 2,5,8&9, P60
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X=97,06,Y,=99,99,2,=104,57
X=0,3218y,,=0,3315
Ao=(g-2n Y
Bo=(bo ~bo ) Y
ag = apo [x/y]

b = byo [z

ay =1, byp=-0,4

n = P60

Munsell-System Y,,=100, P60
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0 C=2,V=1,2,5,8&9, P60 T-10
0,0 0,2 0,4 0,6 0,8 1,0 in der Farbtafel (ag, bg)

BG111-1A_1 BG111-2A_1
Xu=97,06,Y,,=99,092,~10457 B, Xo=97,06,Y,799,99.2,~10457 B,
¥y=0,3218y,,=0,3315 20 %,=0,3218Y,,=0,3315 20
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
a; = ay[(x-0,17Dh] a =2y [(x-0,171)/y] AL

by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay0= 1, byo=-0,4 ay0=1, byy=-0,4
my;=1,000, A mp;=-0,169,bp1=0,389 f—\\ ) '632
n = P60 10 n = P60 _10 \g_) 2& ) 10
Munsell-System Y,,=100, P60 Munsell-System Y,,=100, P60
C=2,V=1,2,5,8&9, P60 T-10 C=2,V=1,2,5,8&9, P60 T-10
in der Farbtafel (a;, by) in der Farbtafel (ay, by)
BG111-3A_1 BG111-4A 1
X=97,06,Y,,=99,997,=10457 B, X4=97,06,Y,,=99,99.2,710457 B,
Xy=0,3218y,,=0,3315 T10 X=0,3218y,,=0,3315 110
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(b3—b3p) ¥ By=(bs—lbgp) Y
a3 = a [(x-0,172/y] + a4 = a0 [(x-0,172/y] +
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay =1, byp=-0,4
mp;=-0,974,bp,=0,658 A3 mp;=-0,169,bp;=0,389 /ﬁ n A:“
n = P60 10 n = P60 _10 &Q/_ / ) 10
P60 P60
Munsell-System Y,,=100, P60 Munsell-System Y,,=100, P60
C=2,V=1,2,5,8&9, P60 T-10 C=2,V=1,2,5,8&9, P60 T-10
in der Farbtafel (a3, bg) in der Farbtafel (a4, bys)
BG111-5A_1 BG111-6A_1
X=97,06,Y,,=99,992,=10457 B, X4=97,06,Y,,=99,99.2,=10457 B,
Xy=0,3218y,,=0,3315 210 X=0,3218y,,=0,3315 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = a [(x-0,172/y] + 3G = ag [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
Mp1=-0,974,b,=0,65! 5 Mp;=-0,974,b;=0,658 6
n = P60 10 n = P60 10

Munsell-System Y,,=100, P60
C=2,V=1,2,5,8&9, P60 T-10
in der Farbtafel (as, bs)

Munsell-System Y,,=100, P60
C=2,V=1,2,5,8&9, P60
in der Farbtafel (ag, bg)
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